Power Play (Solution)

Each image refers to a more or less popular movie, while the word underneath is the last
name of one of the main characters:

Billy Clanton in Belfast (played by Colin Morgan)

Marcus Aurelius in Gladiator (played by Richard Harris)

Harry MacBain in Courage of Lassie (played by Frank Morgan)

Alan Turing in The Imitation Game (played by Benedict Cumberbatch)
Erik “Magneto” Lehnsherr in X-Men (played by lan McKellen)

Eddie Brock in Spider-Man 3 (played by Topher Grace)

Each actor also played a famous “wizard” in another well-known movie/show:

Colin Morgan played Merlin in Merlin

Richard Harris played Albus Dumbledore in Harry Potter and the Sorcerer’s Stone
Frank Morgan played Oz (aka Oscar Diggs) in The Wizard of Oz

Benedict Cumberbatch played (Dr.) Stephen Strange in Dr. Strange

lan McKellen played Gandalf in The Lord of the Rings trilogy

Topher Grace played David Duke in BlacKkKlansman

The last names of these wizards fit into the spaces next to each image and the highlighted
letters spell the solution to the puzzle: “MUGGLE”.

(Dr.) Strange Gandalf Duke (KKK Grand Wizard)

Solution: MUGGLE



